Relativistic classical proton electron interaction.
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1. Motivation

The problem of a solving for the relativistically correct trajectories of classically interacting
proton and electron is one that I've wanted to try for a while. Conceptually this is just about the
simplest interaction problem in electrodynamics (other than motion of a particle in a field), but it
is not obvious to me how to even set up the right equations to solve. I should have the tools now
to at least write down the equations to solve, and perhaps solve them too.

Familiarity with Geometric Algebra, and the STA form of the Maxwell and Lorentz force equa-
tion will be assumed. Writing F = E 4 cIB for the Faraday bivector, these equations are respec-
tively

VE = [/eoc (1)
2
aex 9r ax 2

m— = — .-

dt ¢ drt

The possibility of self interaction will also be ignored here. From what I have read this self
interaction is more complex than regular two particle interaction.

2. With only Coulomb interaction.

With just Coulomb (non-relativistic) interaction setup of the equations of motion for the rela-
tive vector difference between the particles is straightforward. Let’s write this out as a reference.
Whatever we come up with for the relativistic case should reduce to this at small velocities.

Fixing notation, lets write the proton and electron positions respectively by r, and r,, the pro-
ton charge as Ze, and the electron charge —e. For the forces we have

FIXME: picture



d*r 1 Tp—T
Force on electron = m,—— = — zer 2 P 3 (3)
dt? 471e€) Ir. — 1,

2
drp_ 1 ) Te—Tp

Force on proton = m = e
p Pdr2 — 4me P

(4)

Subtracting the two after mass division yields the reduced mass equation for the relative mo-
tion
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This is now of the same form as the classical problem of two particle gravitational interaction,
with the well known conic solutions.

3. Using the divergence equation instead.

While use of the Coulomb force above provides the equation of motion for the relative motion
of the charges, how to generalize this to the relativistic case is not entirely clear. For the relativistic
case we need to consider all of Maxwell’s equations, and not just the divergence equation. Let’s
back up a step and setup the problem using the divergence equation instead of Coulomb’s law.
This is a bit closer to the use of all of Maxwell’s equations.

To start off we need a discrete charge expression for the charge density, and can use the delta
distribution to express this.

0= /d3x <V -E— 610 (Zed®(x — 1)) — e8> (x — re))> (6)

Picking a volume element that only encloses one of the respective charges gives us the Coulomb
law for the field produced by those charges as above
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Here E, and E, denote the electric fields due to the proton and electron respectively. Ignoring
the possibility of self interaction the Lorentz forces on the particles are

Force on proton/electron = charge of proton/electron times field due to electron/proton

In symbols, this is
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If we were to substitute back into the volume integrals we’d have
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It is tempting to take the differences of these two equations so that we can write this in terms of
the relative acceleration d?(r. — r,)/dt?. 1 did just this initially, and was surprised by a mass term
of the form 1/m, — 1/m, instead of reduced mass, which cannot be right. The key to avoiding this
mistake is the proper considerations of the integration volumes. Since the volumes are different
and can in fact be entirely disjoint, subtracting these is not possible. For this reason we have to be
especially careful if a differential form of the divergence integrals (9) were to be used, as in
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The domain of applicability of these equations is no longer explicit, since each has to omit
a neighborhood around the other charge. When using a delta distribution to express the point
charge density it is probably best to stick with an explicit integral form.

Comparing how far we can get starting with the Gauss’s law instead of the Coulomb force, and
looking forward to the relativistic case, it seems likely that solving the field equations due to the
respective current densities will be the first required step. Only then can we substitute that field
solution back into the Lorentz force equation to complete the search for the particle trajectories.

4. Relativistic interaction.

First order of business is an expression for a point charge current density four vector. Fol-
lowing Jackson [1], but switching to vector notation from coordinates, we can apparently employ
an arbitrary parametrization for the four-vector particle trajectory R = R"<y,, as measured in the
observer frame, and write
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Here X = X", is the four vector event specifying the spacetime position of the current,
also as measured in the observer frame. Reparameterizating in terms of time should get us back
something more familiar looking
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Note that the scaling property of the delta function implies é(ct) = 6(t)/c. With the split of
the four-volume delta function 6*(X — R(t)) = 63(x — r(t))5(x?" — x0), where x° = ct, we have an
explanation for why Jackson had a factor of c in his representation. I initially thought this factor of
c was due to CGS vs SI units! One more Jackson equation decoded. We are left with the following
spacetime split for a point charge current density four vector

J(X) = g(c+ ()6 (x —x(t)) 70 (16)

Comparing to the continuous case where we have | = p(c + v)7o, it appears that this works
out right. One thing worth noting is that in this time reparameterization I accidentally mixed up
X, the observation event coordinates of J(X), and R, the spacetime trajectory of the particle itself.
Despite this, I am saved by the delta function since no contributions to the current can occur on
trajectories other than R, the worldline of the particle itself. So in the final result it should be
correct to interpret v as the spatial particle velocity as I did accidentally.

With the time reparameterization of the current density, we have for the field due to our proton
and electron
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How to write this in a more tidy covariant form? If we reparametrize with any of the other
spatial coordinates, say x we end up having to integrate the field gradient with a spacetime three
form (dtdydz if parametrizing the current density with x). Since the entire equation must be zero
I suppose we can just integrate that once more, and simply write
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Like (7) we can pick spacetime volumes that surround just the individual particle worldlines,
in which case we have a Coulomb’s law like split where the field depends on just the enclosed
current. That is
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Here F, is the field due to only the electron charge, whereas F, would be that part of the total
field due to the proton charge.

FIXME: attempt to draw a picture (one or two spatial dimensions) to develop some comfort
with tossing out a phrase like “spacetime volume surrounding a particle worldline”.

Having expressed the equation for the total field (18), we are tracking a nice parallel to the
setup for the non-relativistic treatment. Next is the pair of Lorentz force equations. As in the
non-relativistic setup, if we only consider the field due to the other charge we have in in covariant
Geometric Algebra form, the following pair of proper force equations in terms of the particle
worldline trajectories
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We have the four sets of coupled multivector equations to be solved, so the question remains
how to do so. Each of the two Lorentz force equations supplies four equations with four un-
knowns, and the field equations are really two sets of eight equations with six unknown field
variables each. Then they are all tied up together is a big coupled mess. Wow. How do we solve
this?

With (19), and committed to pdf at least the first goal of writing down the equations is
done.

As for the actual solution. Well, that’s a problem for another night. TO BE CONTINUED (if I
can figure out an attack).
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